JL_

Multiplikation mit Dezimalen (vertikal) Name:

L 6se jede Aufgabe. Antworten

1) 6,36 2) 12,39 3) 9,7

. 32 . 54 . 2,8 -
2.
3.
4
5.

4) 52,5 5) 79,68 6) 5,6

. 91 . 7,9 . 7,3 >
7.
8.
9.
10.

7) 67,5 8) 43,14 9 2,9

. 6,9 e 45 . 41 H
12.

100 135 11) 486,3 12) 5,7

° 2,4 b 5,9 * 319
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Multiplikation mit Dezimalen (vertikal)

Name:

L dsungsschltissel

L 0se jede Aufgabe.

1) 6,36

. 3,2

1272

+ 19080

20,352

4) 52,5

. 9,1

525

+ 47250

477,75

7) 67,5

6075
+ 40500

465,75

100 1,35

540
+ 2700
3,240

2)

5)

8)

11)

12,39

e 5,4

4956

+ 61950

66,906

79,68

. 7,9

71712

+ 557760

629,472

43,14

. 4,5

21570

+ 172560

194,130

486,3

. 5,9

43767

+ 243150

2.869,17

3)

6)

)

12)

9,7
e 2,8
776
+ 1940
27,16

5,6

168
+ 3920
40,88

2,9

29
+ 1160
11,89

5,7

513
+1710
22,23

Antworten

20,352

66,906

27,16

477,75

629,472

40,88

465,75

194,130

11,89

10.

3,240

11

2.869,17

12.

22,23

] www.CommonCoreSheets.de

1-10
11-12

92

75|67]58]50[42[33[25]17|




JL_

Multiplikation mit Dezimalen (vertikal)

Name:

L 6se jede Aufgabe. Antworten
27,16 629,472 40,88
194,130 11,89 465,75
20,352 477,75 66,906
1) 6,36 2) 12,39 3) 9,7
. 3,2 . 5,4 e 2,8
4) 52,5 5) 79,68 6) 5,6
. 9,1 . 7,9 e 7,3
7) 67,5 8) 43,14 9) 2,9
« 6,9 . 4,5 e 4,1
Geandert 1-9 [89[78]67[56[44[33]22[11] 0 |
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